Efficiency vs dr

0.5

efficiency vs AR
=}
D

(@] Bloj v T mll 111
T —_— DQM _mKFit5 TT retraanIdFlleslzs v2_prelimWP_epoch4
x —— DOM_mkFit_TT Dbaseline_6iter .
—— DOM_mKFit6_TT_| retramO‘IdFHeleS v2 prellmWPiepoch27WSQCD
I

L

i+

1078 1072 107t

I

1
TP min AR

§ 0.5
0 0.45
c
x
z 0.4
£0.35
)
c 0.3
<]
o
EO'25
()
0.2
0.15
0.1
0.05]
o+
I
o
il

0.95

=
S
w

Efficiency vs pu

1072

1
AR(TP, jét)

-1

0.5
0.45F

0.35F

efficiency vs PU
o
D
I

o
w
T

0.25F
0.2
0.15F
0.1

093630 40

50 60 70 80

90 100
Pileup




	Contents
	Page 1


